450 Bt 220B ~50Ty
no 500-3000 xoa/MuH
55 MM S2-30 MuH

LA &
&b

Ilepeuenb neraJieif u y3/0B NUJIbI J003UKOBOI diekTpUyeckoi I1JI9-1-01 M

YTBepxkaaro

TexHU4EeCKUl AUPEKTOP

AmnncenkoB O.A.

Hauansauk T.O.:Ilerpos B.T.

HHxeHep-KOHCTPYKTOP:

SlxoBenkos U.K.

9 | Crarop B cbope

9.1 | npoccenb 2

9.2 | koHzIeHCaTOP 1

9.3 |crarop 1

L HauMenopanue 10 | Hogmmnuuk 607 Z 1
1 | Ceresoii muyp L=2M (2x0,75 Mm) 11 | fxops 1

2 | Tpy6ka saummHas 12 | Hogmmnuuk 608 Z 1

3 | Mnactuma npmxaMAas 13 | Llerkonepskarens B cOope

13.1 | kopmyc meTKoxepKaTeIs 2

4 | Bunr camope3 (4x16) 13.2 | merkoxepxaresb 2
5 | IlepexomHuk 14 | Ilerxa (5x8x12) 2

6 | Bunr M2x7 15 | Ilpo3pauHslif 3xpan 1
7 | Beikarouatens 16A 16 | Uuaukarop 1
8 | Ilnara perynupoBKU CKOPOCTH 17 | Iomypyuka neBast 1

18 | Kopmyc B c6ope
18.1 | kopmyc 1
18.2 |och 1
19 | Koneco mpuBoznHOE B cOope
19.1 |Bryaxa 1
19.2 | koneco npuBoaHOE Z=48 1
19.3 |och 1
20 | Brynka 1
21 Hamnpasnsiromast BepxHss 1
22 | IToxk B cObope
22.1 | mrok L=119 Mmm 1
22.2 | HampaBIAIONIAs HUXKHSASA 1
22.3 | minactuHa 1
22.4 | BuHT M4x6 1
22.5 | muIKoaepikarenb 1
22.6 | BuaT M4x8 1
23 | IInactuna 2
24 | OrpaHn4uTens 1
25 3anMTHBIN 3KpaH 1
26 BuHT crienuanbHbIin 2
27 | JIeika 1
28 | Kponmreiin B coope
28.1 | kpoHIITEHH 1
28.2 | ponuk 1
28.3 |och 1
29 | Bunt M4x16 2
30 | Bunr camopes (4x16) 8
31 | Iomypyuxa mpaBast 1
32 | Bunr camopes (4x45) 2
33 | Bunr camopes (3,5x15) 1




